log (t*) LABJNDuUS triangle lightness t*

t* Ync=Yw nc=100,

L ABINDUS =IN(A 17 +A2Y)(A2rAon)  (Ynd/100<Y<=Y, o)
1 ABINDUS =IN(A 10 +A2)(A2Aon) - (X=YTY)

1+ \(3,6)=329 * ,(18)=748 t* y (90)=1164

log[t*/t* ] =
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t*i=1163,7: , A= 16666, A,=(,1044, ¢=1,00
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LABJINDu5
tristimulus value difference

Yoc=Yw nc=100,
L ABINDUS=IN(A 17+ AY)(A2nAon)  (Ynd/L00<Y<=Y;,0)
L aBaNDus=IN(A 10+A2X) (AgAon)  (X=YTYy)
dY=Agn(A1ntA2nY)=Agn(A1rtAzX), see CIE 230:2019
dYg=0,35, A)=0,6666, A,=0,1044, ¢=1,00
dY;g=0,08, A=0,017, A;=0,0058
dY3¢=0,02 Y,=18, dY=0,03

t*,=748 dY,=0,08 d

log (AY/Y) LABJNDUS
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,
tLaBINDUs=IN(A 1+ A2 Y)/(A2nA0n)  (Yne/100<Y<=Y,o)
L ABINDUS =IN(A 10 +A2X)(A2iAon) - (X=YTY)
AY/Y=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/Y}g=0,2039, A4,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)§=0,0044, A 5,527, Ay=0,0058
(dY/Y},6=0,00,3 V.218, dY=0,08

application
range
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t*,=748 dY,=0,08 dY,/Y,=0, 0044|
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LABJINDu5

tristimulus value contrast
Yoc=Yw nc=100,

tLaBINDUS=IN(A 1+ A2 Y)(A2rA0n)  (Yac/100<Y<=Y,o)

1 ABINDUS =IN(A 10 +A2)(A2iAon) - (X=YTY)

YIAY=Y/[A (A 1ntA2n V)X Y/ [Aon(A1n+AuX)]

log (Y/AY)
C,=(Y/AY)

t*,=748 dY,=0,08 Y,/dY,=222
o AR NI
log(Y/dY)2,34 m;=0,13 ¢ ® .

(Y/dY}=250,46 7=0.666A A. 120,104~ 00
(Y/dY)g=222,40_7,=0,017, A0, 005%39 ication
(Y/dY} 142,55 Y, =18 dY=0, (B)h

=02 Xw=5

log (t*/t* ) LA?JNDUS re_lative triangle lightnesst*/t*,

[*/t*u Yoc=Yw nc=100,

tLaBINDus =IN(A1n+A Y (A2rAon)  (Yad/100<Y<=Y,o)
L agaNDus =IN(A 10+ A2)/(A2iA0n) - (X=YTYy)
t+(3,6)=329 *,(18)=748 t* ,,(90)=1164

t*goft*=1,55, Ap=0,6666, A,=0,1044, ¢=1,00
t14/t,=1,00, A 70,017, A,=0,0058
t+3 gt* =0,43,t4,=747,51 Y,=18

log[t*/t* ]=0, m,=0,33

application
range

X,=1
Xw=5

:xN=0,2

LABJNDUS relative
tristimulus value difference
Yne=Yw nc=100,
tLagNDus =IN(A1n+AY)(A2rAcn)  (Yad/100<Y<=Y,o)
tLagaNDus =IN(A 1n+A2X) (A2iAon) - (X=Y1Yy)
dY/dY =(A1tAX)/(A1+AY)
dYoo/dY,=4,43, A=0,6666, A,~0,1044, ¢=1,00
dY;¢/dY,=1,00, A,=0,017, A.=0,0058
dY ¢/dY,=0,31, Y,=18, dY=7,08 $¢
>
t*,=748 dY,=0. 08 dY,/’ 1u—0 ./044 “
log[(dYY(dY),]=0. 1y,=0,56 ‘ 1
‘ 1 application
1 range
%=1
XN=0,2 Xw=5

log(A Y/AY i)
AYIAY,

log [(AY/Y) I (AYIY)] LABJINDUS relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

tLagaNDus =IN(A1n+A Y (A2rAon)  (Yad100<Y<=Y,o)
tLagaNDus =IN(A1ntA2X)(A2iAon) - (X=Y1Yy)
@Y/YY(AYIY)=[(A 1+ A X (A 17 +A)

(Y /(AY/Y)-.88, Ayi=0,6666, 4,=0,1044, ¢=1,00

(@Y/Yyg/(dY/Y)=1.00, .

(@YY g(dYY)=1,53 YU 118 dY=0,08

log[(dY/YY(dY/Y),]=0, m=-0, 13
t*,=748 dY,=0,08 dY,/Y,=0,0044
=1
Xw=5

application
rang

XN=0,2

log [(Y/AY) I (YIAY),] LABJINDUS relative
tistimulus value contrast

CrlCry=(YIAVI(YIAY)y v 2y 2100

nc_l '
tLaBINDus =IN(A1n+AY)(A2rAon)  (Yad100<Y<=Y,o)
tLagaNDus =IN(A 1n+A2X) (A2iAon) - (X=YTYy)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)
(YIdY)g/(Y/dY)=1,12, Ay=0,6666, A,=0,1044, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A,=0,017, A;=0,0058
(Y/dYY g(Y/dY)=0,64 Y, =18, dY=0,08

log[(Y/dY)(Y/dY),]=0, m=0,13

application
range




